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(1) . Q) BFRBACHEE. (3D R, (4) Fe;03+ 6HCl === 2FeCl; + 3H;0.
(5) ARHA. (6 RAK. (D BKEEEFTBRYINE KSR
18. (& 14, 640
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19.( EFEREN 249, o)

(1) Ca(OH); + Na;CO3 === CaCO; |+ 2NaOH
(2) 3Fe+20; & Fe;0,
(3) CO+H,0===H,CO;s
20.(EFFER 2 0 HKEZE 1, 97
(1) Mg+ H,S04 (%) ====MgSO0s+ H,7; C; DOON
(2) @ MgCls HCl;  MgCl« HCI, BaCl;;  MgCh. HCl. MgSO4
® NaOH+HCI=NaCl+H;0;
21. YRR 2 0 HREZE 14, #550)

(1) NaOH; Na»SOy; (2) CuO + H,SO4====CuSO04+ H,0. (3) 50;
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(D /M () REHESFME: 2KCI0;™ & 2KCl+30:21 5
A; BARESESEELYSE BRI RIRE (GEITD ;
B AR FSRAEER R (FE ),
(3) C+0; ** CO, ; MEEREFBMPIBUK (FEETFD ; (4) AD.
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(1) b; 2) ®®;
(3) FFHBAFE 1 D ZEBS FH 1A —EUBRS T2 1 AEET (FEEFD;
(4) BETL; HY (5 11:4 24

24. 6.42 (24}
75 HEE (AR 2 Ft1040)
25.( BE 14, 47
(1) 246; (2) 84: 7: 32; (3) 168; (4) 21;
26.(6 43) (1) 53.5; asm
(2) m (CO2) =12.5+95-103.1=4.4g a4
B JERPES MgCL TR x, ERFIHEERN Y

Na;CO3 + 2HCl === 2NaCl + H20 + CO21

106 117 44
X y 4.4g
x=10.6g a4
y=11.7g (143
Fr 8 b FACBV I R B 11.7g+12.5g-10.6g=13.6g as

BB P RS RES B 13.6-103.1x100% =13.2%; a4
Z R EAERRAE R R ESECN 13.2%.
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